Andhra Pradesh State Council of Higher
Education

Notations:
1.0ptions shown in green color and with +" icon are correct.
2.0ptions shown in red color and with # icon are incorrect.

Question Paper Name: Statistics 12th June 2024 Shift 1

Subject Name : STATISTICS

Creation Date : 2024-06-12 11:52:37

Duration : 90

Total Marks : 100

Display Marks: No

Share Answer Key With Delivery Engine : Yes

Actual Answer Key : Yes

Change Font Color : No

Change Background Color : No

Change Theme: No

Help Button : No

Show Reports : No

Show Progress Bar : No
Statistics

Group Number: 1

Group Id : 83094684

Group Maximum Duration : 0

Group Minimum Duration : 90

Show Attended Group?: No

Edit Attended Group?: No

Break time : 0

Group Marks : 100
Statistics

Section Id : 83094684

Section Number : 1

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 100
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 83094684
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8309468301 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

There are 40 skilled and 60 unskilled workers and their wages Rs. 5 and Rs.3
respectively. What 1s the anthmetic average wage of workers?
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Options :

3.80

Question Number : 2 Question Id : 8309468302 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The second moment of dispersion 1s also known as

AEeD Er6506Y BDOCH Hredd E0 08 B

Options :
Variance
. 1560 DI
1. -
Range
DBED
2. %
Mean deviation
; o5 DTIEIIAN
Quartile deviation
238007048 LI W
4, %

Question Number : 3 Question Id : 8309468303 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The skewness based on median and quartiles will generally vary between
A3 aNOOD) LIERNT0FE) 3 BEGIRN FodaD§ol) eV 2E3
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Options :
—3 and +3
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Question Number : 4 Question Id : 8309468304 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The expression 15 used to describe the "hampedness™ of a curve 15 known as

18550 T30, G0N BESENE 1800 S o) W e ?
Options:

Skewness

Do) § o)

Symmetry

2r56h

2. %

Kurtosis
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3.¢

Asymmetry

O o)ED



Question Number : 5 Question Id : 8309468305 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following measures 1s used to measure Skewness?
320690550069 BEB0dTRE 1808 TS TR SIS rARrE?

Options :
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b1
3. v
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Question Number : 6 Question Id : 8309468306 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The most common measure of skewness as defined by Pearson 1s
Fo2a$ed0ed (EH0IEAS, DANEG IR NG SO S'ered

Options :
Mean—Mode
a
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Median—Mode
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Question Number : 7 Question Id : 8309468307 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Suppose a die 1s thrown twice. What 1s the probability that 6 will appear on
both occasions’
2,8 QaP )8 Ed artE Bock ) (OO0, DO 6 TIErRE
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Options :
1
6
1. %
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Question Number : 8 Question Id : 8309468308 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[f the events S and T have equal probability and are independent with
P(SNT) =p>0then P(S) =
S 0O T €0 a0 OZFRSEIED aDOOIN Q) 550(o10EN LN
P(SNT) =p>0, @y P(S) =

Options :

Jp

1.4

2p

Question Number : 9 Question Id : 8309468309 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If A and B are two mutually exclusive events then P (A / E) =

A 26050 B Bk 80150 B 0NN 0N P (A / E) =



Options :

P(4)
v [1-P(B)]
P(4)
[1+ P(B)]
2. ®
P(B)
[1-P(A)]
3. %
P(B)
[1+ P(A)]
4. %

Question Number : 10 Question Id : 8309468310 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A statistical problem 15 given to three students A, B and C whose chances of
wo o o (5wl . . -
solving 1t are ~F and - respectively. What 1 the probability that the problem

will be solved 1f all of them try mdependently
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Options :
32
29
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29
32

31
32

41
42

Question Number : 11 Question Id : 8309468311 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If F 15 a distribution function of a one-dimensional random variable, then F(-w) =
F o936 3 @083065 AiFdy0)8 He0 Gng) dera Haden ©8

F(-o) =

Options:

1

1. %

Question Number : 12 Question Id : 8309468312 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



I 1(x) 15 the probability density function (pdf) of random variable X, where X
1 defmed from a to b then the Harmonic Mean 1s

X 69 APy R)S LT QAN 027355 al0|CIeh 0% f{x) AN, ¥
96 a (0B b §) DGR, P06 830 5500

Options:

f; f(x)dx

1. %

f; x. f(x)dx

2. %

f; w2 e)de

3.

[7= f(o)dox

4. %

Question Number : 13 Question Id : 8309468313 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If F denotes the distribution function of a non-negative random variable, then
E(X)=
e 8650 570 O R8 T90 T7He ez oo F eand, EX)=

Options :

Jy [1—F(x)] dx

1.¢

2. %



[721 = F()] du
f_ﬂm F(x) dx

fﬂm F(x) dx

Question Number : 14 Question Id : 8309468314 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In a Binomial distribution, f; and f, — 3 are both of order

B9 xS B, HOAN B, —3 © TB0Ey S

Options :
n
1. %
n-1
2. ®
1
n
3. %
1
n
4.+

Question Number : 15 Question Id : 8309468315 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



For the Poisson distribution, £ =

FONTS DeFBSINS B, =

Options :
1
3 +—
m
1.¢
1
m
2. ®
3
3. %
m
4, ®

Question Number : 16 Question Id : 8309468316 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For a normal curve, the Q.D, M.D and S.D are in the ratio(approximately)

TTeSg 5185065’ QD, MD s5B0%0 5.0, 0 & ) (i) ' esoeron

Options :

567

1002005



1523

Question Number : 17 Question Id : 8309468317 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If X 1s Normally Distributed with zero mean and variance one then the
Variance of X*

DD D) DO b 285 SO RS JeFE) WOTF X ©9oNd,
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Options :
|

1.¢
2

2. ®
4

3. %
0
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Question Number : 18 Question Id : 8309468318 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Suppose X 1s Poisson variate with parameter value 2, then P(X > 1) =
DTN DN 2 T EORS 2PN O3 X 0 P(X > 1)=

Options :



Question Number : 19 Question Id : 8309468319 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

It one of the regression coefticients by, 1s greater than one then

by, ST (5% ¢ 2.8 by, 2,863 $0T) D&y GO

Options :

bz =1
1. ®

b
2. ¥

by > 1
3. %

=0
4, %

Question Number : 20 Question Id : 8309468320 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



3x+2y =26.and 6x +y =31 are two regression equations then the mean
values of x and y are
3x 42y =26and 6x +y =31 B0l [eided TEN D& x ANy ©
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Options :

7 and 4

1. %

4 and 7

2.

17 and 14

14 and 17

4, %

Question Number : 21 Question Id : 8309468321 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The total number of conditions for the consistency of data 1s required 1f there
are three attributes 15
Q) (DETE) EOR 0T TN SPOAET &09)0) BNFRE )
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Options :



Question Number : 22 Question Id : 8309468322 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

For 4 attributes, the total number of ultimate class frequencies 13
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Options :

16
1.9

81
2. %

12
3. %

4
4, %

Question Number : 23 Question Id : 8309468323 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The class frequency (aff) in terms of frequencies of positive attributes is

Bared 18 Deasine) sy (af) Ty esSied Trdesyso



Options :

N —(4) — (B) + (4B)

N —(A) - (B) — (4B)
_ N—(4B)
N —(A) - (B)

Question Number : 24 Question Id : 8309468324 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The difference between an observed value and the estimated value of the
dependent variable 15 known as

@33 10(¢5 9007 TRV, 3090 exed OO GO DS Sensse
DO BTV O DT,

Options :

Standard error

B3 Eh5

1. %

Regression coefficient

(€35 Heago
2. %

3. %



Error

SA5m

Residual
DINEPOPRWN

4.+

Question Number : 25 Question Id : 8309468325 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If T is an unbiased estimator for @ then T* 1 estimator for §*

T @0 § 5 28 A5 8 0 SEE 0B, T2 @G 62 8

©90ID BT @a)eR0B.

Options :

Unbiased
Qar)8 8

1. %

Biased
ST)SA@“@_\%

2. ¢

Efficient

3. %

Sufficient
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Question Number : 26 Question Id : 8309468326 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If X ~ N(u, 0%) then the sample mean is a consistent estimator for

X~ N(g,0%) 08 [HSEr e 30 VG0 BOITEGal) ©s)eh0d)

Options :

a
1. %

o2

n
2. ®

u?
3. %

H
4.+

Question Number : 27 Question Id : 8309468327 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The maximum likelthood estimator of % in N(g, %) when  is known as

1 BOSND, N1, 02) S 02 T0%), 1831 03D BOSTTEW.

Options :
Y —x)°
1 ¢ n
Y% —X)F
. n—1



X — )"

n

Y (x; —p)*
n—1

Question Number : 28 Question Id : 8309468328 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A random sample of size 5 15 drawn from a normal population with known

+Xot 4K s . . .
& 2 i an unbiased estimator for

TR
mean J then, a statistic t = =

Xy, Kpy oo X800 5 OSFD8 307000 AR5 8650 606
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)88 B0 O @e)e0b)

Options :

1—pu
1. %

U
2.9

1+u
3. %

jis

4, ®

Question Number : 29 Question Id : 8309468329 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

IfX ~0e~% x>0 then the maximum likelihood estimator of 6 is

Y~0e7% x>0 @owsd § 3B0g) (0 00D @OSTETE

Options :

X

= =

Question Number : 30 Question Id : 8309468330 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of degrees of freedom of a p X g contingency table 1

DX q 8O3 HE3EL S50[S0 W)Oeh ?

Options:

pq — 1
1. %

(r—1D@—-1)
2. ¥



pg — 2

(p—2)(q—2)

4. %

Question Number : 31 Question Id : 8309468331 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sign test 1s a test for

200 HOE. 9IS S8 HOE..

Options :
Correlation

D HODOD

1. %
Randomness
AR AR

2. %
Assoclation
o [V T APV

3 % o)’ 1&[_)5&)30
Symmetry
FPa)aD
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Question Number : 32 Question Id : 8309468332 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



15 a Non-Parametric test.

2,8 e9DT"NB0 HOE.
Options :
- test

t- Hog

F — test

F-58%

Z- test

12

3. %

x? — test
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Question Number : 33 Question Id : 8309468333 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Fisher-Neyman Factorization theorem 1s used to fmd estimators.
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Options :

Unbiased
Qarys &
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Consistent

Q8

Sufficiency

s DO

Efficiency
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4. %

Question Number : 34 Question Id : 8309468334 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Testing Hy : p =10 agamst Hy : u # 10
Hy: £=10 0553080 Hy: p# 10 DO 030

Options :
Right tailed test

S ¥ e HBE

Left tail test
D5 SE o> HBE

Two tailed test

Do SEew Koy HEX

4. %



Single tail test

2.8 &% Ke> H6E

Question Number : 35 Question Id : 8309468335 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equality of two population variances 1s tested by

B0 550 DAY © asTe X% 0 0 208 s
Options :
[-test
F-test
-0
2. ¢
/-test
L e 2-208
o — test
a -0
4, %

Question Number : 36 Question Id : 8309468336 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The number of all possible samples of size n from a population of N units with
replacement 1s

N BPE:0 10 € €50 D0k n HBSTE o) BOA TV
TN DTN (ST 0§

Options :

Question Number : 37 Question Id : 8309468337 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The difference between the sample estimate and the population parameter 15
known as

IBER) @0 OGN 68 o S0 16 0 Roerdy?

Options:

Sampling error

(D3B3 Eedadn

1.4

Non sampling error

(3BT (BT EIBS AW



Formulae error

Q°(d AW

Human error

BN S B

Question Number : 38 Question Id : 8309468338 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[f a sample of size n from a population of N units, then the finite population
correction 1s
N 0657250 110 2,8 €855 006 1 IOTEID 6 (DBEFVD

ADIER, HONES ¢ ¥68

Options :

2

Question Number : 39 Question Id : 8309468339 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

[n a simple random sampling without replacement, 1f N 15 suffictently large
relative to ‘n” then an unbiased estimate of the variance of sample proportion
Pisgven by
SO0 TE)N 9% OPOYRIE (BT HeTe A n & FEO ¢ N
0 V0 G0N (DB Bebare dye g ArES

OOV

Options :

Npq
N-1

Npq

Question Number : 40 Question Id : 8309468340 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The smallest division of the experimental unit 1s known as
DO DETGedd TN, @93 D) 2TTFR), DeOLFTS?

Options :

Treatment

&éeﬁé@

1. %

Plot
DO|HS

2.

Block

DOCIo0D)

Yield

ST NESM
4. %

Question Number : 41 Question Id : 8309468341 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Harmonic analysis can be used to determme component of time series.

SO LN ©0TN) T VINEIRND GITTA0L)

HSVOANMA

Options :

Trend
OFSOF(Da59)€3
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Cyclic variations

. 80D wrothersen

2. %

Seasonal variations

20068 TIOTICTLeN

Random variations

QW ARTAREEALOINTSTIY

Question Number : 42 Question Id : 8309468342 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the ANOVA table for RBD with k treatments , h blocks and one missing
plot, the error degrees of freedom 15 given by

OGN SHOAM 28 D0 20| S ARSI DO BLied T
A8 NENE DS By rsosssTen

Options :
(k=1)(h—-1)
(k=2)(h—1)
(k= 1)(h—2)

C(k=D(h-1) -1

4. %



Question Number : 43 Question Id : 8309468343 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[n estimatimg error variance provides a maximum number of degrees of
freedom.
EIANIBN 0T Fokendy @00 110a) oS’

15085508 300
Options :

Completely Randomized Design

DOYQ ASFDYDYE Beded

1.4

Randomized Block Design

A YNE DO GLHS

Least Significant Difference

. @93 50205 ST SCF

22 — Factorial design

22 — 5768 |1DA3rHedD

4. %

Question Number : 44 Question Id : 8309468344 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The form of the modified exponential curve

DHB0TIDES Hreds SHEH



Options :

Ve =@+ hé"
1.

Wy = athIZ
2. %

k

Yt = 1+ exp(a + bt)
3. %

V.= a4 bt
4, %

Question Number : 45 Question Id : 8309468345 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Histogram 1s the concept concerning
FONETSVEOPVIEAANTN 30 Q020HOWIE

Options:
Index numbers

QI"T) DOVSED

Time series

5°e) (3€D

Vital statistics

295 OSSN



Statistical Quality Control
PO LS DD QANO(HED

Question Number : 46 Question Id : 8309468346 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Purchasing power of money =

20y g Tofen 48 =
Options :
1
Cost of index number
1
. G QD) SoWs
1
Real Wages
1
- GTX_Q&’) 3550
1
Fisher Index
1
- a0 Qrw)

cost of living index

295585 [Dadren S0
4. %



Question Number : 47 Question Id : 8309468347 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Index number formula satisfies the circular test.

7Y 0L 56300 TGO O €2 EN0E

Options :
Fisher

. ALRG T
Kelly’s
5,

2. ¢ 2
Pasche

3. ® @‘“{D

Drobisch-Bowley

SDR- 25O

Question Number : 48 Question Id : 8309468348 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

GDP=
2208 =

Options :
1.4



Consumption +Investment + Government spending + Exports — Imports

DT + PG +Deed D) +0ihaDehen - AaDeren

Consumption +Investment + Government spending - Exports + Imports

DT + DEVIG +2I2Ded ;DA -Dadesen + AlDaeden

2. %

Consumption -Investment + Government spending + Exports — Imports

DG - DEP2IE +2&Ded s +ahadesen - Bdanehen

3. %

Consumption +Investment - Government spending + Exports - Imports

DRI + VEPE (22068 5. +aDaDERED ~ Ao

4.

Question Number : 49 Question Id : 8309468349 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sex Ratio 1s defined as

A0KZ3 DAEI @er DS ST

Options:

Female population
emaltie popu. ation 1000

Male population

5
[0 BJ°2Y°

= x 1000
v DA BT

2. %



Male population
el x 1000

Femalepopulation

O BT

. x 1000
(VO B

Female population

Male population

5
(O 2BJ°2°

x 100
AN BT

3. %

Male population
oo x 100

Femalepopulation

)OO B

x 100

5
| O 37
4. % ]

Question Number : 50 Question Id : 8309468350 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In usual notations, q,, =

ArWeN dosTOS q, =
Options :
2
. 2 +my
2m,,
L, 2+ my

2. o



— 2,

Z.an,
3. %

Z24Mm;
\ 2—m,

Question Number : 51 Question Id : 8309468351 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

provides an upper limit to Net Reproduction Rate
BB DNG@ NN TENZD De) 99 Q) T It
Options :
Total Fertility Rate
FNBO AREE NS B

1. %
General Fertility Rate
. PG o) EE )OS Bew
Gross Reproduction Rate
L [N YAREE IS Bew

Standardized Fertility Ratio
OB DAKE IS  HTEHO



Question Number : 52 Question Id : 8309468352 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Pearl’s vital index 1s defined as

Pearl's 8§ 52 A 52350

Options :

CDR L
. CBR

CBR 100

CDR
2. %

t

Dt x 100
3. %

DE

Bt x 100
4, %

Question Number : 53 Question Id : 8309468353 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The quadratic mean of 3. 6 and 12 1s
3, 6 0005 12 @ 3 DKED DOeh?

Options :

21



35937

189

Question Number : 54 Question Id : 8309468354 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The quartile deviation of 10, 12, 15,17, 20, 22, 24, 28, 30. 35, 38 15
10,12,15,17,20,22, 24,28, 30, 35,38 © 5600048 I0adaina

Options:

7’5
1.¢

22.5

Question Number : 55 Question Id : 8309468355 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

I = (express in terms of non-central moments)

ty_ (50009 e 80506)

Options :



r r 2

Hz - Hi
1.

Uz’ . 2l11'2
2. %

Hz’ - 31 :
3. ®

-lezr . 3li1r2
4. %

Question Number : 56 Question Id : 8309468356 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

IfP(AnB)= % P(AnB) :é and P(4) = P(B) = p, then the value of p is

P(ANB)= - . P nB)=; adP(4) = P(B) = p. o8 p=

Options :

2

@ |~



Question Number : 57 Question Id : 8309468357 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A letter 15 selected at random from the word “PROBABILITY”. The probability that
1t 15 @ vowel 13
“PROBABILITY " @xs)h0en0d o3 2.8 &3 Geloah oyt Sor

SN0, & o3 G5 ) BIETAE oz

Options :

Question Number : 58 Question Id : 8309468358 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If A, B and C are mutually independent events then, P(ANB N () =
A, B a0 € 0 2380)8 2 5e501¢h sdddden @ond P(ANBNC) =

Options :
1. %



1—-P(ANnBNC)

P(A)P(B N C)

2. v

0
3. %

1+P(ANnBNC)
4, ®

Question Number : 59 Question Id : 8309468359 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If N 15 a normal distribution then which of the following s true
N e Qerecdsn eoms, (806 eSS 6 A0

Options :

mean = median = mode

- QRED = @OENR 56NN = eTVFEN

mean = 2 median = mode

. QHED = 2(€908NE5e0IN) = 26TV E D
2.

mean = median = 2 mode

DHED = @0ENE 500N = 2(22a30FEN)

3. %

2 mean = median = mode

2(QNED) = @908DQ §oeD = DIV

4, %



Question Number : 60 Question Id : 8309468360 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
[££(x) 15 the probability density function (pdf) of random vartable X where x 1s
defined from a to b then the geometric mean 1s
X 90508 IOTR T08), 025 0|3 [T afad flx) OO x 96 a
0% b NG, DN

Options :

[2 f(x)dx

| f; logx. f(x)dx

2. ¥

| f; x2. f(x)dx

3.

[7= f(x)dx

4.

Question Number : 61 Question Id : 8309468361 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The standard deviation of the Binomual distribution 1s
8 596 2723300 [$62) DTIORI
Options :

npq

1. %



2. ¥
pa
) n
3. %
pq
n
4, %

Question Number : 62 Question Id : 8309468362 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The mean deviation of the normal distribution 1s

TR0 27723 30 OBNE Y 6 §e06dTII 563

Options :
2
J —
T
1.¢
3
2. %
4
G —
T
3. %
0
4, ®

Question Number : 63 Question Id : 8309468363 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The third moment about the mean of Poisson distribution will be

IO AT OBV, SChe) OO reds

Options :

Question Number : 64 Question Id : 8309468364 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In which probability distribution mean 15 less than its variance?
2 02T 2T 2e0) 808 D50 e 0T K0 )T E0ENOE?

Options :

Binomial distribution

E 500C 0)23°230)00)

1. %
Negative Binomial distribution

, o Q057528 & 50C0 2723090300

Polya’s distribution

3 % PO 2772360



Hyper geometric distribution

2963 (EFEHS D237230950

Question Number : 65 Question Id : 8309468365 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If X,Y are random variables and a and b are constants then Cov(X + a,Y 4+ b) =

X 0000 ¥ 0Py weorhHen; andas b dorodne 9ons
Cov(X+a,Y+b)=

Options :

Cov (X,Y)

1.¢

V(X)+V(Y)

2. %

Cov(X+Y)

3. %

Cov (a,b)

4. %

Question Number : 66 Question Id : 8309468366 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s False?
1BOA ADIS TS DE 55))?

Options:
1. %



M x(t) = My (ct)

M.G.F 1s independent of change of origin

M.G.F 2 o057 200 [8D27°69e3 €508

2.

MX1+X2+"'+XH(I’_) — MX1 (f) afiin MXH(E)
3.¢

M.G.F 1s not independent of change of scale
L MGFD 207> 2)0CNY) (23270 GO0

Question Number : 67 Question Id : 8309468367 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Poisson distribution 15 a limiting case of Biomual distribution when
TN Derzaei) 1806 A0GEIME B3 Defaseden T 56
©96)¢R0E)

Options :

n—=o,p-=>0andnp = 1

1.¢
n—o,p-landnp - A

2. %
1
n—}m,p—}mandnp—}i

3. %

n—oo,p—0andnp —}%



Question Number : 68 Question Id : 8309468368 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If X and Y are standardized random variables then r(aX + bY, bX + aY) =
X 00000 ¥ €0 (55 2080056 05rdy0as SoohHey eons
r(aX +bY,bX +a¥) =

Options:

1+ 2ab
L @F BA

1-2ab

a?+b?
2. %

1+2ab
3. ®

1-2ab

az-p2
4, ®

Question Number : 69 Question Id : 8309468369 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

X and Y are random vaniables and their correlation coefficient 1, = 0.25.

It Uz% and V—— then 1, =

X 0050 ¥ €0 Bock 0irdyR )8 IOTHEn SoNd ) ek H020E)
W’ 0 51,) M=

o

XlU\/

Meadorn, =025 U=



Options :

Question Number : 70 Question Id : 8309468370 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The probable error of ‘1’ 1s

T BNEY, DO02FH5Ed AN

Options:
T
' Vn
1.9
0E7Ea L
' R
2. %
O
0.6547
T
3. %
1+712
0.6754
1



Question Number : 71 Question Id : 8309468371 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A relationship between the coefficient of assoctation (Q) and coefficient of
colligation (Y) 15
EN0008 &85 OFATDAS (Q) O FOTAS EanaHod (¥) s

00
Options :
Q .. B
__ T 14Y2
1. %
2
5 % 1+Y?
0 i
1472
3.¥
., 28
- 2
4w 1+Q

Question Number : 72 Question Id : 8309468372 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The fitting of curve y = ae™ is useful to estimate
) 0TI 0L ¥ = ae”* 9 I AOTTN BT,

Options :
1. %



Linear Growth Rate

BDONSHOBED

Compound Growth Rate

223V H VD

2. ¢

Constant Growth Rate
DBSHOVED

3. %

Decreasing Growth Rate

S9OTENS DSBS

4. %

Question Number : 73 Question Id : 8309468373 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the usual notations, the standard error of the sample mean 1
SFANEN DOTTOS | e e BN (aTesredE S0

Options :
a
n

1. %

a
Vn
_\:;2

2.

J



Vo
n

Question Number : 74 Question Id : 8309468374 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Coefficient of vartation of the chi-square distribution with n-degrees of freedom

- 0,530(¢3e0eN fie) chi-square 2)2T2de%) deiden Hieaso

Options :
n
P
1. %
2
2. N
n
2
3. %
2
n
4.+

Question Number : 75 Question Id : 8309468375 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
With usual notations, [(8) =

57000 Hoserer S 1(6) =

Options :



d%Log L
ey
d%Log L
—F g
062
2.9
. 92Log L]
002
3. %
d%Log L
”E[ LE ]
4, %

Question Number : 76 Question Id : 8309468376 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The 95% confidence interval for the mean t in a population N(g, ) with known
standard deviation ¢ based on a random sample of size n 15 given by:

H0ATE N 10 OG0 HBERID RO Ny, 0 S Esne

0 8O, 1t T 4 1I0He 0G0

Options :
(— T 1.645 J)
X ¢ =
vn
(— T 2.33 g)
X ; —
Vn

2. ®



(— T 258 g)
X E —
3. % \/ﬁ
(— T1.96 J)
X : —
Jn

4. ¥

Question Number : 77 Question Id : 8309468377 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The standard error of standard deviation 1s
1859 TIOR3 T3E) 1850 B

Options :

E

2. %
o2
V2N
3. %
2
Vn
4, %

Question Number : 78 Question Id : 8309468378 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



In a 2x2 contingency table where the frequenciesare  a|b

then, the value of chi-square 15 c|d

228056 HES,  alb  FHITIN B50E8 12 Dend

c|d

Options :

(a+b+c+d)(ad — bc)
(a+b)(c+d)(b+c)(a+d)

1.4

N? (ad — bc)
GihGTarolard

2(a+b+c+d)(ad— bc)
| (a+b)(c+d)(b+c)(a+d)

3. %

2 N (ad — bc)
L. (@tb)c+d)(b+o)(a+d)

Question Number : 79 Question Id : 8309468379 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The equality of several means can be tested by using

9938 @OENEAITE) Nadraih {0 0§ 0tHOH & ;.

Options :
1. %



t-test
2508

ANOV A-test
ANOVA -5868
2. ¥

/-test

7568
3. %

F- test
L« F-208

Question Number : 80 Question Id : 8309468380 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The probability of type-I error 1s called
063580 B30 ), 0258 Q) DOTAK.

Options :
Power function

38 DDA

1. %

Acceptance region

e90REHOND |70

2. %

3.¥



Size of the critical region

DoAY 1377055 DONTEIIN

Unbiased test

Qar)8.8 HO&.

Question Number : 81 Question Id : 8309468381 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 7 be the standard normal probability test statistic, then P(|Z] < 1.96) =

Z 80090 28 853 el 02703565 A0S oD ONS

P()Z] < 1.96) =
Options:
., 099
., 095
0.01
3. %
0.05
4, %

Question Number : 82 Question Id : 8309468382 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

An ordinary sign test was based on distribution

TS 0 908 DETBIND D SEFONG GOLNOO



Options :
Poisson

S O WESN

Binomal

Normal

TP

3. %

Exponential
L w aJ°ed

Question Number : 83 Question Id : 8309468383 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
A frequency distribution of all possible values of statistics 1s known as
025830 T8 @R N0SHAAN VNS BNy TS Nersai)

90tr Q.

Options :
Cumulative distribution function

D05 D223 [ AN

Joint probability distribution function

DO 0255 D223 (IO

2. %



Sampling distribution

- 200N 0232300

Marginal distribution function

L% C5o0"0E5 2T (e CIedD

Question Number : 84 Question Id : 8309468384 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
In LSD. local control principle 1s exercised in wWays.

LSD & R AoHo|eSeanrehadd DAL TP EITFAOTEE.

Options :

Two

| % OOC®

Three

Zw&’w@

Four

L x  OTENM

Five

ASTRY

4. -

Question Number : 85 Question Id : 8309468385 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



A growth curve for time series

335 2% SN S

Options :
Lorenz curve

S 0025 JES0

1. %

Logistic curve

Ly OB 28 AW
Frequency curve

L x BTREYAS | Seow
Frequency polygon
026 0§ 20V 22

4. %

Question Number : 86 Question Id : 8309468386 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The parameters of the linear model can be estimated by usmg
2D GATBIA0) Eareh ST TS DDA BOST®
RO
Options :
Cochran theorem

S5°Q DTSN

2. ¢



Gauss-Markoff theorem

¥4 e, =2

TR - 38 D DT°0ehAN

Rao-Black well theorem

0°5)- 235 DT0eHW

3. %
Cramer- Rao mequality
(5700 - T DB 0500
4. %

Question Number : 87 Question Id : 8309468387 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[n RBD with 6 treatments, each replicated 3 times, the error degrees of freedom 15

Or Y08 906 BSES 6 D80S 87t 2828633 7P HT B BN
B FP5S0eden
Options :

3

1. %

17

2. %

10

3.v



Question Number : 88 Question Id : 8309468388 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When the trme sertes 15 found to be mereasing or decreasimg by equal amounts then
1 used to fit a trend line.

SO 7 OSTER0S DEHE 5 ey 5 300 eenoed

ASTOZ NS 020 SO0 )
Options :

Parabola
- ST

logistic curve

,x ©r3Q8 HEaw
Gompertz curve
ERAIC SR CIRNIEEN

Straight line

4. 5’\/}(5%\562@

Question Number : 89 Question Id : 8309468389 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Real wages =

NS0 =

Options :
1. %



Cost of living index
J 1y % 100

Money wages

ASIDHTRITD
i‘ﬁé(ﬁ?i}w 36550

100

uantity index number
¢ 4 % 100

Money wages

206337 I DODS

X 100
OEET DT DeBS0

Money wages
- « 100

Cost of living index

BB DD 35D0

X 100
s 20 (D369 )

Money wages

X 100
Quantity index number

S BT DETTEHDO

- & - X 100
DI L) DODS

4. %

Question Number : 90 Question Id : 8309468390 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Life mnsurances are based on

26 DA OGO LTON

Options :
1. %



Time series

s°e) (365

Vital statistics

225 POPSTEN

Life tables
Lo B HEIen

Index numbers

QAI°L) DOV

4. %

Question Number : 91 Question Id : 8309468391 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which method 15 used for the construction of an abridged life table?
082 e HEEOS ABIOTNEE o) HOSREHTFATE ?

Options:

Registration
T,
- O3 Vol

Chandrasekhar’s
50153

2. %

3.¢



King’s

o)

Perl’s
BN

4. =

Question Number : 92 Question Id : 8309468392 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The demand curve and supply curve of a commodity 1s given by d = 19 - 3p -
p* and s = 5p - 1. Then the equilibrium price and quantity are respectively
250000 0308}, (ar0% ) I SXE Badj006). d = 19-3p - p* SHOAM

s =5p—1 @o0B NdEFS 0 (O HON I Gairol

Options :
(-10. 9)
1. %
(2.9)
2. ¢
(-10.251)
3. %
(2.3)
4, ®

Question Number : 93 Question Id : 8309468393 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



The price elasticity of demand 7, < 1, then the demand 1s said to be

(a0l 08}, (O VeSS 2,865 S0 ST 0T By & GaiF0l A
Do) @OLTE?
Options :

Elastic

°55%36% ¢

Inelastic

©955°58C965 o3

2.

Unit elasticity

cb§e§£ Eg%ﬁzf)é%g&’m

3. %

negative inelastic
L e 8 95358 e Sadny

Question Number : 94 Question Id : 8309468394 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Crude Death Rate of females 1s

S0GNELVEN (DHBESE) QO

Options:
1.4



Total deaths
Total population

200G eTeN
SNB0BI°2’

x 1000

x 1000

Female deaths
x 1000

Total population

5
| QODGETEN
SBNEB0BT°2T°

x 1000
2. %

Total deaths
Male population

SN0 GETEN
OB TET

x 1000

x 1000

3. %

Male deaths

1000
Female population =

) NDGETEN
x 1000

5
L | VBT

Question Number : 95 Question Id : 8309468395 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Infant Mortality Rate 1s defined as
BHNBET DD S DONTS ST

Options :
1.+



Bg
Dg

Total Male Babies deaths
Total population

B0 237NN DTN
SN0 2307

Total Female Babies deaths
Total population

3050 237OEe> HBeTren
RBNE0 3T°eT°

Question Number : 96 Question Id : 8309468396 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
With usual notations, g, =
ATV DOSTOS q, =

Options :

d

.
L

1.4



Question Number : 97 Question Id : 8309468397 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

[f V), Vy and V5 are the vartances of the stratified sample mean under random
sampling, proportional and opttmum allocations respectively, then which one of the
followmg s true?

QRIS (ST TsPen I, 3P TEra0sy HOA eBeNaD
3eron0s) OF 008 S5 RN S Vi, V208050 Vs B (806 a7
ORVATIEAW

Options :



Vi <V<V

4. ¢

Question Number : 98 Question Id : 8309468398 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The mean and variance of standard normal variate 1s

1560 Pr§ 303 TB0EY @00 sDAO dgesen
Options :

L. (10

0. 1)

2. ¥

(1,2)

3. %

(2, 1)

4. %

Question Number : 99 Question Id : 8309468399 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A minimum variance unbiased estimator T; 15 said to be unique if for any other
estimator T

T1O9R0 IR &8 GO ®ONNY I T2 & Es Dyed A8 § W0t
2583 eHENS Aoaed

Options:

V(T1) =V(T,)

1. %



V(T) < V(T,)

IR(GVRIZ:S
L V@) VT =0

Question Number : 100 Question Id : 8309468400 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

X, X; and X; are three uncorrelated variables, then a3 1, =

X1, X, 000 X3 € 2381060 02006 Bared erTrHen eons 6, =

Options :
0
1. %
of
2. %
o3
3.¢¥
o3





